#### Case 18-10601-MFW Claim 1-1 Filed 03/22/18 Desc Main Document Page 1 of 3

Fill in this information to identify the case:			
Debtor 1 The Weinstein Company Holdings LLC			
Debtor 2			
(Spouse, if filing)			
United States Bankruptcy Court District of Delaware			

FILED

U.S. Bankruptcy Court District of Delaware

3/22/2018

Una O'Boyle, Clerk

### Official Form 410 Proof of Claim

04/16

Read the instructions before filling out this form. This form is for making a claim for payment in a bankruptcy case. Do not use this form to make a request for payment of an administrative expense. Make such a request according to 11 U.S.C. § 503.

Filers must leave out or redact information that is entitled to privacy on this form or on any attached documents. Attach redacted copies of any documents that support the claim, such as promissory notes, purchase orders, invoices, itemized statements of running accounts, contracts, judgments, mortgages, and security agreements. Do not send original documents; they may be destroyed after scanning. If the documents are not available, explain in an attachment.

A person who files a fraudulent claim could be fined up to \$500,000, imprisoned for up to 5 years, or both. 18 U.S.C. §§ 152, 157, and 3571.

Fill in all the information about the claim as of the date the case was filed. That date is on the notice of bankruptcy (Form 309) that you received.

Part 1: Identify the Clai	m			ompany Holdings LLC, et al., (B10
1.Who is the current creditor?	Philadelphia Media Network		— 18-10601 (MFW) —	
Cicatori	Name of the current creditor (the person or entity to be pa	aid for this claim)	TWC	
	Other names the creditor used with the debtor		<u> </u>	
2.Has this claim been acquired from someone else?	☑ No □ Yes. From whom?			
3.Where should notices	Where should notices to the creditor be sent?	payments to the	creditor be sent? (if 1	
and payments to the creditor be sent?  Federal Rule of Bankruptcy Procedure (FRBP) 2002(g)	Philadelphia Media Network			
	Name '	Name		
	P.O. Box 2235 BalaCynwyd, PA 19004			
	,			
	Contact phone (215)568-5621	Contact phone		
	Contact email mail@morrisadelman.com	Contact email		<del></del>
	Uniform claim identifier for electronic payments in chapt	ter 13 (if you use on	e):	
4.Does this claim amend one already filed?	No □ Yes. Claim number on court claims registry (if known	own)	Filed on	
				MM / DD / YYYY
5.Do you know if anyone else has filed a proof of claim for this claim?	Yes. Who made the earlier filing?	_		

Official Form 410

Proof of Claim

page 1

number you use to identify the debtor?		No Yes. Last 4 digits of the debtor's ac	count or any number you use	to identify the c	debtor: 0115
7.How much is the claim?	\$		loes this amount included No  Yes. Attach statement in other charges required	itemizing inte	erest, fees, expenses, or
8.What is the basis of the claim?	or cr Bank	mples: Goods sold, money loa redit card. Attach redacted cop kruptcy Rule 3001(c). t disclosing information that is Advertising	pies of any documents su	pporting the	claim required by
9. Is all or part of the claim secured?	<b>☑</b> Y	Yes. The claim is secured by a  Nature of property:  Real estate. If the claim	n is secured by the debtor	r's principal r Form 410− <i>A</i>	residence, file a <i>Mortgage</i> A) with this <i>Proof of Claim</i> .
		Basis for perfection:  Attach redacted copies of do interest (for example, a mort document that shows the lies	tgage, lien, certificate of ti	itle, financing	of perfection of a security g statement, or other
		Value of property:  Amount of the claim that is	\$		
		secured:	s		
		Amount of the claim that is unsecured:	s \$ 	i	The sum of the secured and unsecured amounts should match the amount in line 7.)
		Amount necessary to cure date of the petition:	any default as of the	\$	· 
		Annual Interest Rate (when	n case was filed)		<b>%</b>
		☐ Fixed ☐ Variable	·		
		No	,		
10.Is this claim based on a lease?		Yes. Amount necessary to	cure any default as of	the date of t	the petition.\$

## Case 18-10601-MFW Claim 1-1 Filed 03/22/18 Desc Main Document Page 3 of 3

12.Is all or part of the claim entitled to priority under 11 U.S.C. § 507(a)?	<b>∑</b>	No Yes. <i>Check a</i>	ll that apply:				Amount entitled to priority
A claim may be partly priority and partly	_	☐ Domestic so under 11 U.	upport obligation S.C. § 507(a)(1	ns (includir )(A) or (a)	ng alimony and	d child support)	\$
nonpriority. For example in some categories, the law limits the amount entitled to priority.	Up to \$2,850* of deposits toward purchase, lease, or rental of property or services for personal, family, or household use. 11 U.S.C. § 507(a)(7).					or rental of old use. 11	\$
		☐ Wages, sala	aries, or commis efore the bankru ids, whichever i	iptcy petitic	on is filed or th	ne debtor's	\$
		☐ Taxes or pe 507(a)(8).	enalties owed to	governme	ntal units. 11	U.S.C. §	\$
		☐ Contribution	ns to an employ	ee benefit	plan. 11 U.S.(	C. § 507(a)(5).	\$
		☐ Other. Spec	cify subsection o	of 11 U.S.C	c. § 507(a)(_)	that applies	\$
		* Amounts are sul of adjustment.	oject to adjustment	on 4/01/19 a	nd every 3 years	s after that for case	es begun on or after the date
Part 3: Sign Below							
The person completing this proof of claim must sign and date it. FRBP 9011(b).  If you file this claim			or. or's attorney or		-		7
electronically, FRBP 5005(a)(2) authorizes courts to establish local rules	<ul> <li>□ I am the trustee, or the debtor, or their authorized agent. Bankruptcy Rule 3004.</li> <li>□ I am a guarantor, surety, endorser, or other codebtor. Bankruptcy Rule 3005.</li> </ul>						
specifying what a signature is.	I understand that an authorized signature on this Proof of Claim serves as an acknowledgment that when calculating the amount of the claim, the creditor gave the debtor credit for any payments received toward the debt.						
A person who files a fraudulent claim could be fined up to \$500,000,	I have examined the information in this Proof of Claim and have a reasonable belief that the information is true and correct.						
imprisoned for up to 5 years, or both.	l dec	lare under penalty	of perjury that the	foregoing is t	rue and correct.		·
18 U.S.C. §§ 152, 157 and 3571.	Exe	cuted on date	3/22/2018				
			MM / DD / Y	YYYY			
	/s/ /	/s/ James W. Ade	lman				
	Sign	ature				-	
	Prin	t the name of th	e person who is	s completi	ng and signing	this claim:	
	Nar	me		s/ James W	. Adelman		
	Title	e		rst name President	Middle name	Last name	
	Cor	mpany	1	Morris & A	delman, P.C.		٠.
				dentify the co	rporate servicer	as the company if	the authorized agent is a
	Add	dress	<u>!</u> 	P.O. Box 22	35	·	
				lumber Stre			
		•	-		d, PA 19004		·
	Cor	ntact phone	(215)568-5621	ity State 2	IP Code Email	mail@morrisad	elman.com

page 3

# EXHIBIT "A"



October 9, 2015

Re: Letter of Agency Authorization

To Whom It May Concern:

The letter serves as confirmation of the appointment of Allied Advertising Limited Partnership d/b/a Allied Integrated Marketing (or otherwise referred to as Agency or Allied or Allied-THA) as the advertising agency of record for Weinstein Company LLC (or otherwise referred to as Advertiser). The agency of record will remain in effect until notified via a revised letter of agency of record or the media contract is terminated. This letter serves as notification that Allied is authorized to purchase advertising in Philadelphia Newspapers on behalf of Weinstein Company LLC.

Liability nature for this account is that of sequential. Allied maintains a sequential liability policy which provides that Allied will be responsible for the cost of advertising booked by Allied at the request of Advertisers solely to the extent that Allied has been paid for the advertising by such Advertisers. Absent such payment by the Advertiser, Allied will not be deemed responsible for the cost of advertising booked by Alfied on behalf of the Advertiser and the Advertiser will be solely and completely liable to Philadelphia Newspapers for such payments.

By accepting Allied's order to place advertising on behalf of the Advertiser, Philadelphia Newspapers understands and acknowledges that Allied is acting as an authorized agent on behalf of a disclosed principal, the Advertiser. Allied shall have no independent obligation to pay for such advertising placement, either joint or several, except as expressly set forth above. Furthermore, Allied specifically rejects any statements that are inconsistent with this policy and practice and Allied will not be bound by any conditions, written or otherwise, that conflict with the foregoing. All attempts to contradict or undermine this policy and practice shall be void and without effect.

Please note all billing should go to:

Weinstein Company LLC c/o Ailied Integrated Marketing 55 Cambridge Parkway, Suite 200 Cambridge, MA 02142

Sincerely,

By Agency Signature CIII I I I I I I I I I I I I I I I I I
By Advertiser Signature Robert B. Rock Printed Name, A. A. A. C. Robert B. Rock Title St. Acces
ACKNOWLEDGED AND AGREED TO
By Philadelphia developers:-Signature And Ming

	Case 18-10601-MFW
	Claim 1-1 Part 2
7 %	Filed 03/22/18
	Desc Attachment 1
i	Page 3 of

03343504-01012018	01/01/2018	Inquirer ROP	\$400.00	\$0.00	\$400.00	č0.0č	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
03344248-01052018	01/05/2018	Inquirer ROP	\$1,154.00	\$5,00	\$1,154,00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	•
03344252-01062018	01/06/2018	Inquirer ROP	\$400.00	\$9.00	\$400,00	\$0.00	\$0,00	\$0.00	\$0.00	\$0.00	\$0.00	
3345062-01122018	01/12/2018	Inquirer ROP	\$1,154,00	\$0.00	\$1,154.00	\$0,00	\$0.00	\$0.00	\$0.00	\$0,00	\$0,00	
13345070-01122018	01/12/2018	Inquirer ROP	\$600.00	\$0.00	\$800,00	\$0.00	\$0.00	\$0.00	\$0.00	\$0,00	\$0.00	
3345075-01132018	01/13/2018	Inquirer ROP	\$400,00	\$0.00	\$400,00	\$0.00	\$0.00	\$0.00	\$0.00	\$0,00	\$0.00	
x3345080-01152018	01/15/2018	Inquirer ROP	\$400.00	\$0.00	\$400.00	\$0.00	\$0,00	\$0.00	\$0.00	\$0,00	\$0.00	
3345819-01192018	01/19/2018	Inquirer ROP	\$1,978.20	\$0.00	\$1,978.20	\$0.00	\$0.00	\$0.00	50.00	\$0.00	\$0.00	
3345822-01212018	01/21/2018	Inquirer ROP	\$1,036.00	\$0.00	\$1,036,00	\$0.00	\$0.00	50.00	\$0.00	\$0.00	\$0.00	
3346663-01262018	01/25/2018	Inquirer ROP	\$1,400,00	\$0.CD	\$1,400.00	\$0.00	\$0,00	\$0.00	\$0.00	\$0,00	\$0,00	
13345664-0126201B	01/26/2018	Inquirer ROP	\$1,754.00	\$0.00	\$1,754.00	\$0.00	\$0,00	\$0.00	\$0.00	00.02	00,02	
3346671-01272018	01/27/2018	Inquirer ROP	\$400.00	\$0.00	\$400.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	SD.00	
3347831-02022018	02/02/2018	Inquirer ROP	\$1,200,00	\$1,200.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
3348830-02092018	02/09/2018	Inquirer ROP	\$1,200,00	\$1,200,00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
3348636-02112018	02/11/2018	Inquirer ROP	\$777.00	\$777.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
3349441-02162018	02/16/2018	Inquirer ROP	\$800.00	\$800.00	\$0.00	\$0.00	\$0,00	\$0,00	\$0.00	\$0.00	\$0,00	
3349442-02162018	02/16/2018	Inquirer ROP	\$1,754.00	\$1,754,00	\$9.00	\$0,00	\$0.00	\$0.00	\$0.00	\$0.00	\$0_00	
3349446-02172018	02/17/2018	Inquirer ROP	\$400.00	\$400.00	50.G0	\$0.00	\$0.00	\$0.00	\$0.03	\$0.00	\$0.0C	
3349449-02192018	02/19/2018	Inquirer ROP	\$400.00	\$400.00	\$0.00	\$0.00	\$0.00	50.00	\$0.00	\$0.00	50.00	
3350202-0223201B	02/23/2018	Inquirer ROP	00.008	\$600.00	\$0,00	\$0.00	\$0.00	\$0,00	\$0.00	\$0.00	\$0.00	
3350203-02232018	02/23/2018	Inquirer ROP	\$400,00	\$400.00	\$0.00	\$0.00	\$0,00	\$0.00	\$0.00	\$0.00	\$0.00	
3350208-02252018	02/25/2018	Inquirer ROP	\$777.00	\$777.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0,00	\$9,00	
WEINSTEIN COMPANY	600125238	Commercial	Rodgers, Dan	\$0.00	\$0,00	\$1,118.88	\$0.00	\$0.00	\$30,674.70	521,342,82	\$0.00	\$53,136
3327362-08112017	08/11/2017	Inquirer ROP	\$4,563,00	\$0,00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$4,563.00	\$0.00	600
23328153-08182017	08/18/2017	Inquirer ROP	\$3,549.42	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0,00	\$3,549.42	\$0.00	
)3328154-08182017	09/15/2017	Inquirer ROP	\$3,549,42	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$3,549.42	\$0.00	
3328898-08252017	08/25/2017	Inquirer ROP	\$6,131.56	\$0,00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$8,131.56	\$0,00	
3328901-08252017	08/25/2017	Inquirer ROP	\$3,549.42	\$0.00	\$0,00	\$0.00	\$0.00	\$0.00	\$0.00	\$3,549.42	\$0.C0	
23329939-09012017	09/01/2017	Inquirer ROP	\$3,969.00	\$0,00	\$0,00	\$0,00	\$0.00	\$0.00	\$3.969.00	\$0,00	\$0.00	
3329943-09012017	09/01/2017	Inquirer ROP	\$8,509,80	\$0,00	\$0.00	\$0,00	\$0.00	\$0.00	\$8,509.80	\$0.00	\$0.00	
3329946-09012017	09/01/2017	Inquirer ROP	\$2,646,06	\$0.00	\$0.00	80,00	\$0.00	\$0.00	52,646.06	\$0.00	\$0,00	
23336815-09082017	09/08/2017	Inquirer ROP	\$4,732.56	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	54,732.58	\$0.00	\$0,00	
3330817-09082017	09/08/2017	Inquirer ROP	\$1,352,16	\$0.00	\$0.00	\$0.00	\$0,00	\$0,00	\$1,352.16	\$0.00	\$0.00	
3331320-09152017	09/15/2017	Inquirer ROP	\$4,732.56	\$0,00	\$0.00	\$0.00	\$0.60	\$0.00	\$4,732.56	\$0.00	\$0,00	
3331626-09162017	09/16/2017	Inquirer ROP	\$3,427.20	\$0.00	\$0.00	\$0.00	\$0,00	\$0.00	\$3,427.20	\$0.00	\$0.00	
03331626-09172017	09/17/2017	Inquirer ROP	\$1,305.36	\$0,D0	\$0,00	\$0.00	\$0.00	\$0,00	\$1,305.36	\$0.00	\$0,00	
AD30343-12212017	12/21/2017		\$559,44	\$0.00	<b>\$0</b> ,60	\$559.44	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
/D30344-12212017	12/21/2017		\$559,44	\$0.00	\$0,00	\$559,44	\$0.00	\$0.00	\$0,00	\$0.00	\$0.00	

Aging Summary/Detail Report

Page 3 of 4

Data as of: 2/27/2018 10:56:54AM

Case 18-10601-MFW Claim 1-1 Part 2 Filed 03/22/18 Desc Attachment 1 Page 4 of

#### PHILADELPHIA MEDIA NETWORK

Olic Bignirer WANTENS philly com

Return Service Requested

RADVERU	END/ER	A TEAC TADVERTISER	OLIEMINAME SERVE
600	125238	WEINSTEIN C	OMPANY
TO DESCRIPTION OF THE PROPERTY	ACCOUNT	A SECURITION OF THE PARTY OF TH	O MANAGE AND A
535 53000000000000000000000000000000000	620002 300000000000000000000000000000000	ALLIED INTEGRATE	DIMARKE UNG
10(2	9/30/17	30,674,70	52,017.52
Amount	aid		DUE 10/15/17

PLEASE REMIT PAYMENT TO:

ALLIED INTEGRATED MARKETING 55 CAMBRIDGE PARKWAY ATTN ACCOUNTING DEPT SUITE #200 CAMBRIDGE MA 02142

Philadelphia Media Network (Newspapers) LLG-P.O. Box 822063 Philadelphia, Pa 19182-2063

PLEASE WRITE ACCOUNT NUMBER ON CHECK

FED ID#: 27-2937767

PLEASE DETACH AND RETURN UPPER PORTION WITH YOUR REMITTANCE

PATE	"NEWSPAPER REFERENCES	PAST DESCRIPTION FOTHER COMMENTERS NATOES A	SPECIFICATION OF SPECIFIC	MES/RATES	GROSS/AMOUNIE	#NELAWOUND #
8/31		Balance Forward				56,557.78
l l	D460F497	Payment Check 414198				-7,098,84
9/19	P1095137 P1095141	Payment Check 414150	] [			-28,116.12
9/19 09/01	0003329939	LEAP; Inquirer; Weekend Movies; Retail	2.00 x 7.0000 14.00	1D 183.60	2,670.40	2,570.40
09/01	0003329939	LEAP; Daily News; Movies_ROP; Retail	2.00 x 7.0000 14.00	1D 99.90	1,398.60	1,398.60
09/01	0003329943	TULIP FEVER; Inquirer; Weekend Movies; Retail	2.00 x 10.0000 20.00	1D 246.88	4,937.52	. [
		Color Charge4 Color	1		1,008.48	5,946.00
09/01	0003329943	TULIP FEVER; Dally News; Movies_ROP;	2,00 x 10,0000 20.00	1D 93.24	1,864.80	
		Color Charge4 Color			699,00	2,563.80
09/01	0003329946	WIND RIVER; Inquirer; Weekend Movies; Retail	2.00 x 5.2500 10.60	1D 163.21	1,713.66	1,713.66
09/01	0003329946	WIND RIVER; Dally News; Movies_ROP; Retail	2.00 x 5.2500 10,50	1D 88.80	932.40	932.40
09/08	0003330615	TULIP FEVER; Inquirer; Weekend Movies; Retail	2,00 x 7.0000 14.00	1D 244.80	3,427.20	3,427.20
09/08	0003330615	TULIP FEVER; Daily News; Movies_ROP; Retail	2.00 x 7.0000 14.00	1D 93.24	1,305.36	1,305.36
09/08	0003330617	WIND RIVER; Inquirer; Weekend Movies; Retail	2.00 x 2.0000 4.00	1D 244.80	979.20	
09/08	0003330617	WIND RIVER; Daily News; Movies_ROP; Retail	2.00 x 2.0000 4.00	1D 93,24	372.96	372,96
09/08	0003330619	LEAP; Inquirer; Weekend Movies; Retail	2,00 x 3.5000 7.00	1D 0.00	0.00	0.00
09/08	0003330619	LEAP; Daily News; Movies_ROP; Retail	2.00 x 3.5000 7.00	1D 0.00	0.00	
09/15	0003331316	LEAP; Inquirer; Weekend Movies; Retail	2.00 x 2.0000 4.00	1D 0.00	0,00	
09/15	0003331316	LEAP; Dally News; Movies_ROP; Retail	2.00 x 2.0000 4.00	1D 0.00	0.00	0.00

STATEMENT OF ACCOUNT AGING OF PAST DUE AMOUNTS

DELINQUENT ACCOUNTS ARE SUBJECT TO REASONABLE COLLECTION CHARGES 'UNAPPLIED AMOUNTS ARE INCLUDED IN TOTAL AMOUNT DUE

ii i	RRENT/NET/AMOUNT/DUE	CAMERO DAYS TARRE	ACT FOR DAYS TO A	(80 DAYS) 144 V	EOVER 120 DAYS	SESSIONAL AMOUNT DIFFE.
	30,674,70	21.342.82	0.00	0.00	0.00	52,017.52
	00,01 111,0	_,,,,,,,,,,			1	

FOR BILLING INQUIRIES CONTACT:

Dan Rodgers drodgers@phillynews.com 215-854-4501 voice FED ID#: 27-2937767

FOR WRITTEN INQUIRIES CONTACT:
Advertising Customer Service Department
Philadelphia Media Network (Newspapers) LLC
801 Market St., Sulle 300
Philadelphia, Pa 19107

A COUNTY OF THE PROPERTY OF TH	。 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1	ADVERTISERINFORMATI	
THE TANK THE PERSONS AS A SECOND OF THE PERSONS	A BILLED ACCT NUMBER &	A ADVICITIENT NUMBERS	
09/01/17 - 09/30/17	535620002	600125238	WEINSTEIN COMPANY
	l		<u> </u>

#### PHILADELPHIA MEDIA NETWORK

Utic Juquirer MINITES philly com

Return Service Requested

ADVERTIGER	GHENTHAME
WEINSTEIN (	COMPANY
A BILLEDY GO	OUNTINAME
ALLIED INTEGRATE	DMARKETING
30.674.70	82 017 52
The second secon	The same of the sa
	DUE 10/15/17
	and the page

#### PLEASE REMIT PAYMENT TO:

ALLIED INTEGRATED MARKETING 55 CAMBRIDGE PARKWAY ATTN ACCOUNTING DEPT SUITE #200 CAMBRIDGE MA 02142

Philadelphia Media Network (Newspapers) LLC P.O. Box 822063 Philadelphia, Pa 19182-2063

PLEASE WRITE ACCOUNT NUMBER ON CHECK

FED ID#: 27-2937767

#### PLEASE DETACH AND RETURN UPPER PORTION WITH YOUR REMITTANCE

MALE:	ENEWSPACER REFERENCE	TO SECULIAR OF THE PROPERTY OF	SI SIZEIUNTE PE	(Mesikate	GLOSSAMOUND	ANET/AMOUNT A
09/15	0003331320	WIND RIVER; Inquirer; Weekend Movies; Retail	2,00 x 7.0000 14.00	1D 244.80	3,427.20	3,427.20
09/15	0003331320	WIND RIVER; Daily News; Movies_ROP; Retail	2.00 x 7.0000 14.00	1D 93.24	1,305.36	1,305.36
09/16	0003331623	LEAP; Inquirer; Movies_ROP; Retail	2.00 x 3.5000 7.00	1D 0.00	0.00	0.00
09/16	0003331626	LEAP; Inquirer; Movies_ROP; Relail	2.00 x 7.0000 14.00	1D 244.80	3,427.20	3,427.20
09/17	0003331623	LEAP; Daily News; Movies_ROP; Retail	2.00 x 3,5000 7,00	1\$ 0.00	0.00	0.00
09/17	0003331626	LEAP; Daily News; Movies_ROP; Retail	2.00 x 7.0000 14.00	1S 93.24	1,305.36	1,305.36
		·				
				,		
			ļ	<u> </u>		
				3		
		,				

STATEMENT OF ACCOUNT AGING OF PAST DUE AMOUNTS

DELINQUENT ACCOUNTS ARE SUBJECT TO REASONABLE COLLECTION CHARGES
\*UNAPPLIED AMOUNTS ARE INCLUDED IN TOTAL AMOUNT DUE

<b>ECURRENTINETAMOUNT DUE</b>	THE BOODAYS HAVE	对他是160 DAYS SEE	STATES NO DAYS SHOW TO	A PARTICULAR PROPERTY OF THE P	SECRETO FAT AMOUNT DUE
30,674.70	21,342.82	0.00	0.00	0.00	52,017.52

FOR BILLING INQUIRIES CONTACT:

Dan Rodgers drodgers@phillynews.com 215-854-4501 voice · FED ID#; 27-2937767

FOR WRITTEN INQUIRIES CONTACT:
Advertising Customer Service Department
Philadelphia Media Network (Newspapers) LLC
801 Market St., Sulte 300
Philadelphia, Pa 19107

<b>《数据文章》的文章,是是一个文章,</b>	
AND THE ENDING OF THE INCIDENCE OF THE I	
09/01/17 - 09/30/17   535620002   600125238	WEINSTEIN COMPANY

# Case 18-10601-MFW Claim 1-1 Part 2 Filed 03/22/18 Desc Attachment 1 Page 6 of

#### PHILADELPHIA MEDIA NETWORK

The Inquirer PARTIENS philly ocom

801 MARKET STREET, SUITE 300, PHILADELPHIA, PA 19107

**Return Service Requested** 

NADVERTISED NUMBER	ADVIRTISER.	CLIENTINAME
600125238	WEINSTEIN C	OMPANY
##BIDLEDACCOUNT(##	A CONTRACT OF THE CASE	OUN NAME
535620002	TENERS OF THE STATE OF THE STAT	OMARKETING THE STATE OF THE STA
1 of 1 8/31/17	21.342.82	58,557,78
Amouru Pain		DUE 9/15/17

#### PLEASE REMIT PAYMENT TO:

ALLIED INTEGRATED MARKETING 55 CAMBRIDGE PARKWAY ATTN ACCOUNTING DEPT SUITE #200 CAMBRIDGE MA 02142

Philadelphia Media Network (Newspapers) LLC P.O. Box 822063 Philadelphia, Pa 19182-2063

PLEASE WRITE ACCOUNT NUMBER ON CHECK

FED ID#: 27-2937767

#### PLEASE DETACH AND RETURN UPPER PORTION WITH YOUR REMITTANCE

	SNEWSPAPER REFERENCES	PAY DESCRIPTION OTHER COMMENTS CHARGES &	C SIZE/OUTS	TIMES/RATE	(GROSS AMOUNT)	TENET AMOUNTS
7/31		Balance Forward				35,214.96
08/04	0003326690	WIND RIVER; Inquirer; Weekend Movies; Retail	2,00 x 8.0000 16.00	1D 0.00	0.00	0.00
08/11	0003327362	WIND RIVER; Inquirer; Weekend Movies;	3.00 x 7.0000 21.00	1D 104,64	2,197.53	
	•	Color Charge - 4 Color			427.47	2,625.00
08/11	0003327362	WIND RIVER; Dally News; Movies_ROP; Retail	3,00 x 7,0000 21.00	1D 68.01	1,428.16	
		Color Charge - 4 Color			509.84	1,938.00
08/13	0003327452	LEAP; Inquirer; Movies_ROP; Retail	2.00 x 8.0000 16.00	1S 0.00	0.00	0.00
08/18	0003328153	LEAP; Inquirer; Weekend Movies; Retail	2.00 x 5.2500 10.50	1D 244.80	2,570.40	2,570.40
08/18	0003328153	LEAP; Dally News; Movies_ROP; Retail	2,00 x 5,2500 10,50	1D 93.24	979.02	979.02
08/18	0003328154	WIND RIVER; Inquirer; Weekend Movies; Retail	2.00 x 5.2500 10.50	1D 244.80	2,570.40	2,570.40
08/18	0003328154	WIND RIVER; Dally News; Movies_ROP; Retail	2.00 x 5.2500 10.50	1D 93.24	979.02	979.02
08/25	0003328896	LEAP; Inquirer; Weekend Movies; Retail	2.00 x 7.0000 14.00	1D 244.80	3,427.20	
1		Color Charge - 4 Color			700.00	4,127.20
08/25	0003328896	LEAP; Dally News; Movies_ROP; Retail	2,00 x 7,0000 14.00	1D 93.24	1,305.36	,
	·	Color Charge - 4 Color	İ		699.00	2,004.36
08/25	0003328901	WIND RIVER; Inquirer; Weekend Movles; Retail	2.00 x 5.2500 10.50	1D 244.80	2,570.40	2,570.40
08/25	0003328901	WIND RIVER; Daily News; Movies_ROP; Retail	2,00 x 5.2500 10.50	1D 93.24	979.02	979.02

STATEMENT OF ACCOUNT AGING OF PAST DUE AMOUNTS

DELINQUENT ACCOUNTS ARE SUBJECT TO REASONABLE COLLECTION CHARGES
'UNAPPLIED AMOUNTS ARE INCLUDED IN TOTAL AMOUNT DUE

CURRENT: NET/AMOUNT, UUE	SODAYS 5	F F 5 60 DAYS	SETTER MIDAYS A SET IN	F F F OVER 420 DAYS !: 100	E STOTAL AMOUNT DUES
21,342.82	0.00	0.00	. 0.00	35,214.96	56,557.78

FOR BILLING INQUIRIES CONTACT:

Dan Rodgers drodgers@phillynews.com 215-854-4501 voice FED ID#: 27-2937767

FOR WRITTEN INQUIRIES CONTACT:
Advortising Customer Service Department
Philadelphia Media Network (Newspapers) LLC
801 Merket St., Suite 300

STATE ON HEIGHT STATE OF THE ST	EBITED/ACOT/NUMBER U	epadverheerineormati Seadviguentridmeerea	ONS
08/01/17 - 08/31/17	535620002	600125238	WEINSTEIN COMPANY

#### PHILADELPHIA MEDIA NETWORK

The Anguiter PAINARYS philly com 801 MARKET STREET, SUITE 300, PHILADELPHIA, PA 19107

Return Service Requested

CADVERTISER NUMBER	ADVERTISER	GLIENTINAMES TO THE
600125238	WEINSTEIN C	OMPANY
BILLED ACCOUNTS	A TO IS AN A SHIFT OF A CO	OUNDNAME
535620002 ENDARISMENTONICION	L ALLIED INTEGRATE	D MARKETING
1 0/ 1 12/31/17	1,118.88	63,138,40
AmountPaid		DUE 1/15/18

PLEASE REMIT PAYMENT TO:

ALLIED INTEGRATED MARKETING 55 CAMBRIDGE PARKWAY ATTN ACCOUNTING DEPT SUITE #200 CAMBRIDGE MA 02142

Philadelphia Media Network (Newspapers) LLC P.O. Box 822063 Philadelphia, Pa 19182-2063

PLEASE WRITE ACCOUNT NUMBER ON CHECK

FED ID#: 27-2937767

#### PLEASE DETACH AND RETURN UPPER PORTION WITH YOUR REMITTANCE

SDATES	TINEWSPACER REFERENCES	######################################	F SIZEMINTS	TIME STRATE	"GROSS AMOUNT:	NET AMOUNT OF
11/30		Balance Forward				52,017.52
12/21/17	MD30343-12212017	Debit: 9/15/17 - DN billed \$1,305.36 should have billed \$1,864.80 - Order No. 0003331320 - Daily News				559.44
12/21/11	MD30344-12212017	Misc Rate Adjustment Debit: 9/15/17 - DN billed \$1,305.36 should have billed \$1,864.80 - Order No. 0003331626 - Dally News Misc Rate Adjustment				659.44
					j	
		·				
	:					
			:			
					<u> </u>	

STATEMENT OF ACCOUNT AGING OF PAST DUE AMOUNTS

DELINQUENT ACCOUNTS ARE SUBJECT TO REASONABLE COLLECTION CHARGES

'UNAPPLIED AMOUNTS ARE INCLUDED IN TOTAL AMOUNT DUE

SOURRENT NET AMOUNT OVE	STATE OF THE STATE	5#: 0 DAYS 0 0 0	to DAYS HE SEE	OVER-120 DAYS	ESCETOTAL AMOUNT DUE TO
1,118.88	0.00	0.00	30,674.70	21,342.82	53,136.40

FOR BILLING INQUIRIES CONTACT:

Dan Rodgers drodgers@phillynews.com 215-854-4501 Volce FED ID#: 27-2937767

FOR WRITTEN INQUIRIES CONTACT:
Advertising Customer Service Department
Philadelphia Media Network (Newspapers) LLC
601 Markot St., Suite 300
Philadelphia, Pa 19107

			ONSIGNATION
(CV2) THE SAME THE STATE OF BUILDING PERIOD TO SAME	HILLED ACCT NUMBER (	SEADVICHENT NUMBER 75	<b>这种文化的是对自己的主义的人的主义的人的主义的主义的</b>
12/01/17 - 12/31/17	535620002	600125238	WEINSTEIN COMPANY
<u> </u>	L		

)

U

R

T

D

O

C

K

Ε

Γ

<u>18-10601</u>

1-1

3/26/2018

<u>SH</u>

CASE NO. COURT CLAIM NO.

DATE RETRIEVED

**RECEIVED BY**